5=1:300

L=19/om

TFAH —7‘M_420m

A=43

mz\m;g A=11m2 J/

/
FEEIT(J52) A= 9m2/

—
o s 5 =
Mk :
777 z
"l' NP P

JOvOEIL A=5Im2

W55

AN VA

20Oy P%I A=50m2

TEHME
FIHIER L=38.5m

15&fT L=19.0m
FEI (752)  A=40m2
FTAIT7ILEE  A=18m2
FAH—T L=19m
avo)—+r7RYHIELT A=59m2
NOLETITHE N=1E
NOLETIHE N=1E
BT I& A=bm2
BFIZOI® A-bm2

BEYERET V=6m3

25 &R L=19. 5m
FETL (75%)  A=20m2
TAIT7IL hEEE A=11m2
FAH—T L=20m
avo)—+r7ARYHIELT A=50m2
NOWLETIE N=1E
INOLETVE N=1E
BT TME A=4m?2

HFTIIVE A=4m2

T TH29FE H290EK $4275
$% 1IRMETAME R A RER K EEIETSE

Mm4 | FEX

e R E =

HEm#&ES | 1

E-Lak

FHHE RRSER R




S=1:100
No. 0+8, 0 No. 0+19.0 2450
IR m2 | 1.30 FR1E m2 | 1.30
R m2 | 0.93 HEH m2 | 1.72
hs R m2 | 0.84 As 5 m2 | 0.84
Bt m2 | 3.98 Bt m2 | 2.54
ZiA# (RC-40) [m2 | 0.71 ZiA# (RC-40) [ m2 | 0.71
SEKET m | 200 SEKET m | 2.43
No, 0 No. 0+18. 5 700 500
|  — 5°°| AR m2 | 1.30 KA m2 | 1.30
—rhn / %, 1A m? | 2.54 1A m2 | 1.93
A 5 m2 | 0.84 ks 1 m2 | 0.84
Bt m2 | 0.91 Bt m2 | 4.75
ZAH (RC-40) [ m2 | 0.71 ZAH (RC-40) [ m2 | 0.71
SEKET m | 1.96 SEKET m | 276

TH29FE H290EK $4275
I$% 1IRMETAME R A RER K EEIETSE

Hm4 | &R

e R H = HREES 2

E-Lak

EHA ERERER 1

gﬁhl;




No. 0+19,5

i =

Pax

2950 500

No. 0+15.0

As

3350

No\0

As

73 m2 | 1.25
1EHI m2 | 0.80
HER m2 | 0.79
Bt m2 | 0.62
A4t (RC-40) [ m2 | 0.48
EET m 1.85
R m2 | 1.27
1EHI m2 | 1.02
HER m2 | 0.80
Bt m2 | 1.01
A4t (RC-40) [ m2 | 0.52
EET m 0.95
R m2 | 1.28
fEH| m2 | 0.73
HER m2 | 0.81
®t m2 | 0.67
ZE3A44 (RC-40) [ m2 | 0. 61
pr T m 0.7

THE | Thmmnsvsnsmisanrs
MES | HE

# R| B = Ea&s| 3
2t %

BHAE BRSEE1H




Joy /BT RHEK 1SEM
5=1:100

EIHERISER L=19.0m

Ee T15&E L=19.0m
JOvyHBIISER L=18.4m
RKimLI1S5&F L=18.4m
-
= % X z
= =
=1 1300 7700 5500 | 5200 300
S o '?\D & INALET O
MAET I P § E %
2169\_\ W 1 [7%%) —
| % A 7z \
- 3| = = = ]
S > > > > S
(ap) N N N N (ap)
[ap] 1 1 1 1 o
A =z = = = o
e o o o o =]
(e>) D ()] D D ()
3 > > > > 3
™ I I I I o
i = Z z z u
» 19%)
meri® 9001 dob HEMTISEHA L=184m Job._| 500\ gisr pm
Aoy =
ST RERK
o $=1:100
=y . =
FsxOovy O HBiEL EREK
S=1:100 g g
+ + +
| 10400 I400 E g
300 | 8000 | 5500 | 5500
T2 9%FE H29EK F42758
I$% 1 %&ﬁﬁﬁiﬁ¢?§ﬁi§%ﬁi§2lﬂl$
Xm% | EBEE
B R I XmES| 4
St 4

FHHE RRSER R




JRuoBI EHE 25HF

BIHERE L=19.5m
BRET25EM L=19.5m
JRoyOBI25HE/m L=18.9m
Xig T25EF L =18.9m

No. 0
No.0+15.0
o  No 0+19.5

14700 4200 300,
~300_ !
MOET WA 07 MOLT VE
203 - e 1860
= BEL 2BEFK (75%) 3 S
—_~ ()]
= S S _
= N 3 3 S
s ) T i S
= = = = g &
Ii 1 N N >
> %) ! I N
001 _1 500 ” 2
+TI® /500 |_300 ERT25Em L=17.Tm 300..1 500\ EftTIVH
MET EREE
S=1:100
E g g
400 300
= —
15000 4500 | '

TH29FE H29EK H427%
TH4 1 RHEAHE R A RER K EEATS

Mm% | REX

e R B = HRKEES 5

E-Lak

FHHE RRSER R




AN L
AR KimT
X uy v = $ al Y e — 9 -
EENERK 1S5&E EAEMER 25 8&Fh §=1:30
| 620 |
gEI BERHEA(13) t=50 o[
I RC40 t=100 ~
£BI BABHEAUI) =50 — o
500 BET RO =100 200420 T~ WEHE3IZ7Y—k
1/ 18-8-25B8
= 60'\.
HEKET
$=1:30
S BHaVHU—F
S N o 520
2 2 18-8-40BB o2
| g
B 7 100 s
S | =
AN 500 100 | /520 | 100 190
EBT HLavsy—h
18-8-40BB
NOwkET IWHE
| o= =
MHLET TH hOET  THE hOlET ImMHE No.0+19.5 S=1:60
No. 0 S=1:60 No. 0+19. 0 S=1:60 No.0 S=1:60
670 670 300 670 300
B - % B r;—| B rmj (lg_(_)gl) am— |_| B
)
O %\ O
c{;\ 2 %) ™
2 & 2 3 2 2 2 2 ~ ~
& 3 3 a3 S = w52 U+
18-8-40BB
W) U— b R~k I
18-8-408B 18-6-4068 | 950 |
1000 - - 980 TXEg | FR2o%E H29EK %427%
1B ER AR ERKEEIETISE
ME4 | EME - TEE
® R | EEEE 6
L%
EHETL BRHESR1E




